Multiplying Three Mon/Polynomials (G)
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Simplify each expression.

1. 6p*(—2p” + 5p%)(8p° + 4p" + 3p?)

At (—dr® — 5ty (—rt — 8% 4 3r?)

- (—85° + 95 (55! 4 45% — 25%) (=35 — )

(=26 4+ 4 8¢)(8¢2 — 8c + 1) (—2¢* — 3¢7)

(6w? — 8w?)(—4w? + 3w® — w?) (—4w’® — w?)
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Multiplying Three Mon/Polynomials (G) Answers
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Simplify each expression.

- 6p*(—2p” + 5p°) (8p° + 4p* + 3p?)
= —96p'Y + 192p” + 84p° + 90p"

. —47’4(—47“5 - 57"4)(—7°4 — 8 + 37’2)
= —16r"° — 148¢"* — 112r"" + 607"

(=85 +95")(5s" + 45” — 257)(—35 — 5)
— 12050 1+ 1615° — 2215 — 2065" + 90s°

(=2¢% + & +8¢) (8¢ — 8 + 1)(—2¢" — 3¢7)
— 32¢° — 180¢” — 368 + 173¢° — 24¢*

(6w? — 8w?)(—dw? + 3uw? — w?)(—4w® — w?)
= 96w™ — 176w + 70w" — 2w' — 8w”
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